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Q.1 Attempt All(Each of SMarks) SRR ©(A5My, 3‘"-*‘._:5-@-5
(a)  Choose the best choice for the following quostxons St (5 M}‘
(i) The number of equivalence relations of the set {1, 234}13 3 ~ Gty . _
a) 4 b) 15 LY A6 ""@?&4’ 3 z
(i)  LetS={1,2,34}. A relation R defined in Sas, R= . ;' :".-‘\‘-"F.- [ 4" ¢
2LADRDRDGNE_ v S F T P F S .J' :
a) Transitive b) symmetric _ ¢) antl-smamemc d)coae,of ﬂxe
S FR SR :abew:s o
(i)  The set {1,2,3}is not equalto ' : B e Whe
a) {2,1,3} b3~{321} s c} ;1 23,:1; A «3){1,2,3 r} 5
(iv)  Which of the following regular expresswﬁs xdenﬁﬂersm'e true? ‘L/
a)(r)’=r" b) (ﬁs)’%r 8" QS sx—=: #s" d) Allof these - \)\
v) In any undirected graph thesumofdegreés nf aQHhcﬂodes' S & \
a) Must be even & b) Need nobbeodd c:) Mmgbundd djﬂeed not be 0\
(b)  Fillin the ,b]anlgs \Use fo\lowmg pool tb answe uﬁon (5M)
Pool(two;: zeto; universak; warshall’s, snmpl@,zlo ds cqual onto,invertible)
(i) A_H_ thha&ﬂmg’shincﬁatan@last vertices; - |
(ii) Algomtimmnsew ﬁn&shertpstpmh - .‘~
(iii) _A:ﬁgaptm ng» Bissaidbe” " “:‘ *‘f;mcnén if each element of B is the

.+ infage Bfsome € demgpfé? ROZ 0 TE S
a:r hasno mstfictlonsnn m‘ ‘production.

(1v2~ AJType
(x) The-Sum¢ Bﬁhé’degrees of the vemecs of '3 graph Gis ____totwice the
25 numberofiedgesin G- ST
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’(¢)A " }&ﬂMch folldwjng qne’stmns.
m m»cwnéa» ther n.is eqump’f

& “Define: Comgl,éte Graph
(!l aminations be scheduled in a week so that no

< twWo pxainiﬁatlmls, m:ﬁ sched\ﬂed on the same day considering Sunday as
. holi

()3 \mﬂ%ﬁb& u'a’vcssal "technique lists the nodes of b

! S order? "

] asééﬂdiﬁs ber of integers to be selected from

a&) 'What lfnasxmmmumnum 5
Koo _.11_23,@&}suchthatthesumoftwoofthenmtegerslseven
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Q.2 AWMM(A'Y"‘ A is an equi IIQIR!M oh. u\ ¥

relation R on the set 18 = , -

(a) Determine whether the 3.3)) 3 - 3 - ~
A=(1.2.3) R={(1.1). (1.2 @D G20 — 2 3

() Sam-mmmﬁmmmmm
(DA function f: Z FZ, ) =x * § |
(i1) A function f Z3Z fix)=x’ R g

©  Given A={1.2.3.4] and B={xy.2). Let R be the following Fe:aCon
B Ység : S
R=1(1yl(1.2)(3.5){4x).(4.2)] S b b X o g .

(i) determine matnx of relation (i) Draw wmmd Bila s 3
(1) Find the inverse relation of R (1v) and £

(d) LetRand S be the following relations on A & {T Q,3b RS
R={(1, 2% (2.3). (3. D}, S= {(1, 20 (2, n. (3. 3)} O
FmdRUS (@@RNS (@R’ - ° -

(e)  Consider the relation R = {(1,3),(1,4). 3, 2)(3 Jus.«m -
A={1,2,34) od
(:)&wmdmtedmh(ﬁ)ﬂndlhemhh

o f.g.h are funcuions on X= {123 }as R N "\“
f={(1.2)42.3).3.1)); g—{(l_‘l).(l.l).(ll)}; | 1380
Compute (i) fog (ii) fogoh VSO )

Q.3 Attcmpt the following (Any TH SMarks) (15M)

{a) In a certamn progremming langnage, should be of length three ad
should be made tp of two | by a digit or of length two made up
of s letter followed by a dig) v passible variables? What if letters
are not 10 be repeated? ) ‘

(b)  How many distinguis arions of the jetters io the word RADAR are
there?

(¢) Of 32 peoplec who whou!es(abqth)formyclm..muwm
and 14 ssve the number 1t of peopte who (i)save both (i1)save

- anly papet, )save only bottles.
(6) - Findthe of ways that a party of seves persons can arrange themselves:
' 1) 1 ven chaurs (ivjaround a circular table
{e) } and M~ la, ab, b} be Janguages over A= {a, b} .
IM (ML
a »‘*(ﬂ 3 mmxwhcnl‘-ubnnd N={S,A,B} with starting symbol S.
P—(S')AB B> Bb, BéhA‘)AA. A-?a). Find L(G).
w,-‘"'a .:-?'
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Q.4 Attempt the following (Any THREE) (Each of —— H Ehy

W\ At

(@ Consider the trees Ty, T2, T3 in figure. Identify those which mmts

same: o X ¢
(i)rooted tree (ii)ordered rooted tree (iii)binary tree ‘;_,;‘ &, 5 -':7':;‘
A A A
l§ ¢ ./\ c<\ 5
b (] o

rl T Tl
(b)  Construct a preorder sequence for gwenmtdétgl\idé '1‘35 5§ 9 T§
(c)  Draw a tree for the given polish fozm., E=l\- abho+ *o& - 4

(d)  Draw a multigraph G correspon@ng to’th*e fo“uowiﬁg
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R G & @ 3o QFV@lﬁQb foi)f.fe?@s‘ omhe given recurrence relation as linear homogenous
R St omﬁéﬁt@hémee §&
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T ;’\3’\‘@ : f,(ig}‘{ h;ﬁawmaqrw g;» ¢an a committee cons1stmg of three men and two women
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